    Ch 334  -  Quiz 4  (take-home)

    due 9:00:00 am, Wed. 11/6/02
Name (please print)









   (38 points)

(No part credit. Answers must be meticulously correct in every detail.)

1. (8)  Give an acceptable name for the following, taking care that all of the rules of naming (use of commas, dashes, etc.) are used correctly. Include stereochemical labels where appropriate.
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2. (8) Write a reasonable mechanism for the following reaction. Show individual steps clearly, and use correct electron pushing. (The use of the symbol  H+ is not acceptable.)
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3. (4)  The cycloalkanol shown below in Haworth projection  reacts with H-I to give 
3-deuterio-1-iodo-1-methylcyclopentane. (D = deuterium, an isotope of hydrogen.) Use clear Haworth projections
 to show the stereochemistry of this product.

[image: image3.wmf]
4. (4) Draw an atomic orbital model of the type demonstrated in lecture for the substance shown below. Label the orbitals used and show all valence electron, including unshared pairs. Label the ( and the ( bonds. The geometry should be clear from your drawing.
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5. (8) Free-radical chlorination of alkanes can be carried out using a reagent called tert-butyl hypochlorite, shown in the balanced equation below (t-Bu = tert-butyl).  It is much more convenient to use in the lab that Cl2, which is a noxious, toxic gas. Write a reasonable mechanism for this reaction assuming that it is analogous to the mechanism using Cl2. Show the steps clearly, and use correct electron pushing. Include representative termination steps. (Note. There can be slight variations in the way the mechanism is written.)
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